AÖF seçme sorular – 3 

1) Which one of the following views on the source of language is compatible with the innateness hypothesis?
A) The natural sound source
B) The divine source

C) The genetics source

D) The social interaction source

E) The physical adaptation source
2) What is the place of articulation of the initial sound of the word “mother”?
A) Bilabial

B) Palatal

C) Dental

D) Velar

E) Alveolar
3) Which one of the following words begins with a nasal sound?
A) Oven

B) Knowledge

C) Can

D) Those

E) Cheep
4) Which one of the following words begins with a glottal sound?
A) Chance

B) Right

C) Thought

D) Who

E) Round
5) Which one of the following words includes a consonant cluster?
A) Down

B) Common

C) Say

D) Table

E) Through
6) Which one of the following word sets includes the allophones of the phoneme /t/?
A) Eighth, although, throat

B) Time, tough, tongue

C) Thief, thank, sloth

D) Touch, term, dance

E) Task, letter, tight
7) The word handball /hændbɔl/ can also be pronounced as /hæmbɔl/. The second pronunciation is an example of ________.
A) assimilation

B) nasalization

C) elision

D) aspiration

E) flapping
8) “Camcorder” is a word which is formed by the words “camera” and “video recorder”. This word formation process is an example of ___________.
A) compounding

B) clipping

C) backformation

D) blending

E) conversion
9) A: Where’s my chem book?
B: Chem? What does it mean?

A: Chemistry.

B: Oh! It is on the table. I could not understand the meaning of the word “chem” since it involves ________.

A) conversion

B) clipping

C) the infix

D) the acronym

E) the derivation

10) Which one of the following is correct for the word “süpermarket” in Turkish?
A) Acronym

B) Clipping

C) Borrowing

D) Derivation

E) Conversion
11) Which one of the following words does not include an inflectional morpheme?
A) Said

B) Strengthen

C) Highest

D) Helping

E) Mark’s
12) Which one of the following is a free functional morpheme?
A) Teach

B) Cat

C) But

D) Pre-

E) -ness
13) Which set contains allomorphs of the ‘past tense’ morpheme?
A) stayed, said, called

B) robbed, stayed, killed

C) sang, read, swam

D) stayed, changed, kicked

E) tied, danced, starred
14) “Ayşe himself forgot the book.”
This is an error made by a learner of English. This agreement error is related to _______.
A) Gender

B) Person

C) Voice

D) Tense

E) Number
15) “The angry man reprimanded the girl loudly.”
Which one of the following is a constituent structure of the sentence above?
A) The angry man reprimanded

B) angry man reprimanded the girl

C) the girl loudly

D) angry man reprimanded the

E) The angry man

16) “She is driving fast.”
What is the part of speech of the underlined word in this sentence?
A) Adverb

B) Adjective

C) Noun

D) Preposition

E) Pronoun
17) “Was the bracelet stolen by Jake?”
Which one of the following is the deep structure of the sentence above?
A) It was Jake who stole the bracelet.

B) Jake stole the bracelet.

C) Did Jake steal the bracelet?

D) The bracelet was stolen by Jake.

E) The bracelet was not stolen.

18) Which one of the following sentences is represented by the tree diagram given below?
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A) He wrote the book in the library.
B) She spent the whole day with friends.

C) The man fell down.

D) They went into the big house.

E) She ran after the child.

19) Which sentence contains recursion?
A) The tutor was thought about by the student.

B) Her tutor will go for a conference next month.

C) Was the tutor at the university?

D) She thought that her tutor was in the building at the university.

E) What did she think about the tutor?

20) Which one of the following phrases has structural ambiguity?
A) All cats and funny dogs

B) Funny cats and dogs

C) Funny cats and funny dogs

D) All funny cats and all dogs

E) Funny cats and all dogs

21) “They saw that Mary was happy.”
Which one of the following is a complement phrase (CP) in the sentence above?
A) that

B) Mary was happy

C) They saw

D) They saw that

E) that Mary was happy
22) “The child broke the window.”
What is the semantic role of ‘the child’ in the sentence above?
A) Agent

B) Experiencer

C) Instrument

D) Theme

E) Patient

23) Which one of the following words is represented by the semantic features below?
[ +animate, +human, -female, +adult ]

A) Table

B) Woman

C) Man

D) Cat

E) Flower
24) What is the relationship between the words ‘calculate’ and ‘compute’?
A) Polysemy

B) Antonymy

C) Metonymy

D) Synonymy

E) Hyponymy

25) What is the lexical relation between the words ‘vegetable’ and ‘cucumber’?
A) Metonymy

B) Antonymy

C) Polysemy

D) Synonymy

E) Hyponymy

26) The pair right-wrong is an example of __________.
A) superordinates

B) non-gradable antonyms
C) co-hyponyms

D) homophones

E) synonyms
27) Which one of the following words can be the prototype of ‘bird’?
A) Dove

B) Peacock

C) Chicken

D) Penguin

E) Bat

28) –The school is on the right.
– I agree with him, he is right.
The occurrences of the word ‘right’ in those sentences are __________.  
A) homophones
B) synonyms

C) antonyms

D) homonyms

E) reversives

29) “We saw a big airplane. It belongs to Turkish Airlines.”
What is the antecedent in the sentence above?
A) Turkish Airlines

B) saw

C) We

D) a big airplane

E) It

30) Which one of the following sentences includes temporal deixis?
A) I was in London last year.

B) Put the book here, please.

C) It is in those large boxes.

D) There are three cars near the house.

E) They called him and left the room.
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